Solutions for In-Class Problems 3 for Monday, January 29
These problems are from Pre-Class Problems 3.
You can go to the solution for each problem by clicking on the problem letter or problem number.

1.
Solve the following equations using the quadratic formula.
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2.
Determine the type of solutions for the quadratic equation 
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  by calculating the discriminant.

3.
Solve the following problems.

a.
The length of a rectangular garden is twice the width.  If the area of the garden is 500 square yards, then find the dimensions of the garden.

b.
Find two consecutive integers whose sum of their squares is 145.

c.
The base of a triangle is eight feet less than three times the height of the triangle.  If the area of the triangle is 40 square feet, then find the base and height of the triangle.
4.
Solve the following equations.
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b.   
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c.   
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5.
Solve  
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SOLUTIONS:

1a.

[image: image8.wmf]0

7

10

2

=

+

-

x

x

 





Back to Problem 1.
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Answer:  
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1b.
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Back to Problem 1.

LCD(2, 3, 4) = 12
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Answer:  
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2.
Determine the type of solutions for the quadratic equation 
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  by calculating the discriminant.
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Answer:  Two real solutions




  Back to Problem 2.
3a.
The length of a rectangular garden is twice the width.  If the area of the garden is 500 square yards, then find the dimensions of the garden.


Let w = the width of the garden


Then 
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The area of the rectangle is length times width = 
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.  Since the area of the rectangular garden is given as 500 square yard, then 
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NOTE:  
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Since the width is a dimension, it is a positive number.  Thus, 
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Length = 
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Answer:
Length = 
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Width = 
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Back to Problem 3.

3b.
Find two consecutive integers whose sum of their squares is 145.


Let n = the first integer


Then 
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The square of the first integer is 
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.  This sum is to be 145.  Thus, 
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There are two answers to this problem.

Answer 1:  
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Back to Problem 3.
3c.
The base of a triangle is eight feet less than three times the height of the triangle.  If the area of the triangle is 40 square feet, then find the base and height of the triangle.

Let h = the height of the triangle


Then 
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The area of a triangle is given by the formula 
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Thus, the area of our triangle is 
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Since h is a dimension, it is a positive number.  Thus, h is 
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The base is equal to 
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Answer:
Base = 12 feet




Height = 
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Back to Problem 3.
4a.
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Back to Problem 4.
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Answer:  
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4b.
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Back to Problem 4.
We can factor the expression 
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Answer:  
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4c.
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Back to Problem 4.
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NOTE:  In order to factor the expression 
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Thus, 
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Answer:  
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Earn one bonus point because you checked the solution for this problem.  Send me an email with the following in the Subject line: IPS3-4c.
5.
Solve  
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Back to Problem 5.
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NOTE:  
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LCD  =  
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If 
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Back to Problem 5.
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